
Net zero needs to be a bigger issue

According to the polls once again the Green Party will poll badly. There is
little appetite for their attacks on cars, gas boilers, industrial activities
in the U.K. and the domestic oil and gas industry.
The Conservatives have been changing their policy,  accepting that the public
is not willing to buy heat pumps and electric cars on the scale Greens think
necessary. They have shifted back dates for transition though left in place
taxes on car companies that sell too many petrol and diesel vehicles.
Labour have backed an improbable idea of closing down all our gas fired power
stations by 2030 but have cancelled the idea of ending gas boilers by 2035.
Reform say they would stop the spending on net zero transition as they do not
support this.
Lib Dem’s are closer to the Greens but wish to talk about other things. They
major on being against sewage discharges to rivers, offering fines on
companies and regulation which we already have as their answer!
Many voters think the climate does change but are not ready or able to buy
electric cars and heat pumps. They are concerned if the U.K. closes down its
industries and oil and gas extraction only to rely on imports based on fossil
fuels.

So the road to net zero is on the ballot paper. Will it impact the overall
result?
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